King Fahd University of Petroleum & Minerals

Electrical Engineering Department

EE-390; Exam 2,  (Time : 1 hour) 
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1.  For the isolated I/O circuit in the figure below, on chip 6, Port A is used as an input port, Port C & Port B are used as output ports. If the 8255A chips are working in Mode 0, assume the don’t care address pins are at ‘logic 0’ level to;

(i) Find the addresses of ports A, B, C and the control register in HEX

(ii) Write a program segment (do not include Title, Stack etc.), with maximum 9 lines of code, that will input data using port A, invert the inputted data and output them to both port B and port C 
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2. The figure below is a 64 line parallel output circuit of a 8088 microcomputer, find the addresses of PORT 2 and PORT 7 . 

(Assume  don’t care address pins are at ‘logic 1’ level)
[image: image3.wmf]15

A


Address of port 2________________________H

Address of port 7________________________H

3. In executing the instruction

OUT DX, AL

The 8088 processor performs a bus operation. Complete the timing diagram showing: Logic levels at the specified pins. (Assume minimum-mode, AX=12BAH, DS=0B1DCH, IF=1, and DX=031AH). 
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